CR12 Assembly Instruction

Parts included

I—— — /;/ Wall mount accessories
Metal f == .
R Stiding rack with brackets o *o
Assembly wood Shelf M5*30 r“L
J
Angled cross brace M5x8 M5%30 / .’ J
’ . ¥ ‘ .
=
\*2 M *4 @M 8 L
A
M5x6 M5x20 (Spare screw) //./~J

@*16 @@,,4 ‘ R

Step1 Step3

ﬁ ﬁ’—'-'"""é e

. Hook the four Brackets of Sliding rack into the frame |Hook the others one by one same as
Put two metal frames into level.

as shown. step 2

Step4 Stepb Stepb

th | b int
Stge e angied eross Srack into Insert the assembly wood shelf slightly into the Screw the other assembly shelf

sliding rack as shown. into the sliding rails same as
step5, then Donel!

pre-drilled holes on metal frame one
by one as shown.

Remark: 1. Tighten all screws with a wrench.
2. M5*20 is spare screw to joint two items on the top of CR12.
3. Use wall Mount accessories to mount the item into wall.




